C1 Surds Questions
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2. Simplify

245 7
-2 o

expressing your answer in the form @ + /b , where @ and b are integers.
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2.  Simplify
6+ V7
expressing your answer in surd form.
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2.  Simplify each of the following. expressing your answers in surd form:

fa) .*u"E + +/80 - w‘ﬁl;
642

(b) 2.
2442
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2. {a) Simplify the following.

Jag+ 27 -8
+3
2+ '\.'I?

{b)  Simplity
P 3+1‘.?

. expressing your answer in surd form.
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2. Simplify each of the following, expressing your answers in surd form.

(a) 5 =A3 . 4

a N [4]

(b) (2+3)(4-12). [4]
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2. Simplify each of the following expressions, expressing your answers in surd form.

(a) 'zﬁ+3~f§—¢fl—§_ 3]

{b) 6+~'%
6—4/30

[4]
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2.  Simplify
fa) 2\-@+ 18 — ]i , (4]
(b) 5+415 4
P T [4]
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2. Simplify the following.
J35 20
fa) M == 4
+ NG [4]
h) 243 4]
5+243
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2. Simplity
(a) ﬁ—%+[£xﬁ]. [4]
) 5J5-2 .

(4]
4+‘u'|'§



2009 Winter

2.  Simplity
(@ liﬁ_ﬁl’ [4]
(2+J§]{5-—Jﬁ). [4]
wesemer  Mathswizard.net
2. Simplify
a & 4
@ 841, 4]
(b 50 +(V3x6)- . 14
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2.  Simplify

(b) T—J_ ~(v2) - (4]
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2. Simplity
(@ 5V7-43 (4]
NN
) (15 @}—ﬁ-%. (4]
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2. Simplify ﬁ; . (4]
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2. Simplify
9 1
(a) B-1 B [4]
(b) %—Jﬁx\@—(zﬁ]j- (4]
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2. Simplify
(@) % @l
(b) (ﬁxﬁ}+%—%. 4]
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2. Simplify
10 3
(@ 7+2411° o
(0 (x50 2 ¢
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2. Simplify

(@) SHT-1142
V1-v2

o (4]
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2. Simplify

fa) 2415“,\'-,—? .

(b) VIO~ VT (y5) - B0
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2. Simpify 3¥3=245

2J3+.5
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2. Simplify
@ 2B+,
(b) (Vi2x24)+ 4}?_3_\3.
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2. Simplify
442 - J11

@ IA+v

. +[@]3_
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2. Simplify :g:ﬂ [4]
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2. Simplify
@ 53 f
) (2413) -(3v7 xV28 4
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